Al
e

2 O

& . (170) MHE2dH=+< Mg : (173) EBlslHHEge2x24e S @ (01) I 1E2XS+Y (cig) : M
7l P = gl P
b oM - 3 P, =
e ot yam [ =y ¢ 2 |
71,593,706 84,444,970 212,851,264
29,224,646 42,075,910 212,851,264
29,224,646 42,075,910 | 212,851,264
Elzl HHEE 24,376,550 24,576,550 A200,000
17,722,000 17,922,000 A200,000|® Z2EH SSIEE QENE HLAY(2H) A 200,000
C 3t
Z A (300,000,000 x 141)-J] & (500,000,000 x 141) = A 200,000
4,848,096 17,499,360 | 212,651,264
4,848,096 17,499,360 | 212,651,264 ARGIEHEE SESAM BES 212,651,264
O LH2M BE23
2 & (1,000,000,000& x 14)-21 & (7,807,000,000& x 14) =
A 6,807,000
O SH2AI 22
2™ (B58,736,0009 x 1A41)-2| & (6,703,000,0008 x 14Al) = A5, 844,264




Xl

£ 0 & A

[ stadt |
© (200) KHERKE 5 1 (230) SERAIS ME : (235) JIHEX S : (401) A&HIZ S0 —
2 = 3] 5 STEE 3
2 | = [Nel = ol & o =y o
e A 71,593,706 84.444.970 |  ~12.851,264
200 |
NEE-D 41,200,066 53.906.600 A 12,706,624
230 )
SHTARS 11,491,940 04.950.204 12,767,264
035
01 = x| 11,491,940 04.950.204  A12.767.264
401
NEREETT 11,491,940 24,950,204 | A12,767,264
11,386,336 24,253,600  £12,867,264/01 A&t
® dTsaHelE ZLBM A12,751,264
O LH 24 282
217 (946200, 0002 x 141 )-J| = (7,807,000,0008 x 141) =  A6,860,800
O SH 2A 292
217 (812,536, 0008 x 141)-J| = (6,703,000,0008 x 141) = A5,890,464
© 2T ¥ ATs4+HAZ USA £.116,000
O stasdXALAS AX)| HE RHAX
2179 (711.000,0008 x 141)-7| = (814,000,0008 x 141) = A103,000
O B2 XHAALE S222K 01 S2HH0I0] &X
213 (202.000,0008 x 141)-7| & (215,000,000% x 141) = A13,000




[ 8=t ]

2 0 (200) MHEHXE gt @ (230) REALHSE HIg : (236) JIAEX S . (401) AI&HIXSHHI (9] : HE)
3 = J e =
i oIl & o | e & 3 I =
o [ [ae = o & o | =
100,000 0 100,000 02 Z2lHl
® A4=5t=HMelE SL3AM 100,000
|
| OLHZ2M FE2 A (53,800,000& x 1&1)-J|H(0&) = 53,800
O SH S2A BE2 2 A (46,200,0008 x 141)-J|1H (0)) = 46,200
260 ]
Hi IS EH| X = 25,545,000 25,830,000 A285,000
261
& SO Aht 25,545,000 25,830,000 A285,000
401
Al EHI R R0 24,870,000 25,155,000 £285,000|
24,864,970 25,155,000 A290,030|01 Al & H|
® NXNSE+T ot AZ2AY
2 & (745,970,000 x 141)-21F(751,000,000& x 14!) = £5,030
@ 2ZH SYUSTHE QENUF NHEAS(ZH) £285,000
O =Hl
i 2 A (300,000,000 x 141)-71H (500,000,000 x 141) = A200,000
O Al
2 & (129,000,000 x 14!)-7| = (214,000,000& x 14!) = £.85,000
5,030 0 5,030 03 AlZ=0HI
® NREHSFE ot HBAMY
‘ 2 A (5,030,000& x 14)-J| H(0H) = 5,030




[

St ]

2 (200) HERKS & : (800) OfHIHI HIZ : (801) oiHI = : (801) GibIHI ey & D
N e 3] = = 3l
- o Bl 1 o & = Il =
e =2 of & o =2 o
800
(0:{H=1Ns] 3,821,126 3,475,486 345,640
801
0fl B B 3,821,126 3,475,486 345,640
801
WML 3.821,126 3,475,486 345,640
> & 20)-J| = 2y =
- 245, 6a0| © ONHIHI 25 (3,821, 126,0008 )-J| = (3,475,486,0002 ) 345,640

3,821,126




[ 237 A& ]

20 (200) HEXKE & @ (230) REXLHS HE : (284) 252 S @ (401) NEHIZSOYI (s ¢ M)
o = 9] S
- o & o & = p x
EEE 8 o & o =3 o
200 .
EHIE 1,818,160 1,962,800 144,640
P30 .
S AHH = 1,818,160 1,962,800 £144,640
234 .
TES 1,818,160 1,962,800 2144640
401
Al & HI 20 1,818,160 1,962,800 ~144 640
1,807,360 1,962,000 ~144,640 101 Al H|
® EXHLH

2 (452,0008 x 400m x 170%)-21 & (452,000 x 400m" x 250%)
= A~ 144,640




